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Q.1

Ans X A a
o« B.b
X cC.c
X D.d

‘What does a class of PCB determine?

(A) Reliability of Design
(B) Quality level of PCB
(C) Quantity of Design
(D) (A) & (B)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

Download From:- www.itieducation.com

8496368433
84963633693
84963633694
84963633695
84963633696
Answered

D




Q.2

Ans X A a
& B.b
X Cc
/< D.d

The controlling parameter in IGBT is the:
(A) Ig
(B) Vge
(C) Ic
(D) Vce

Question ID
Option 1 1D
Option 2 ID
Option 3 ID
Option 4 ID

: 8496368448

: 84963633753

1 84963633754

: 84963633755

: 84963633756
Status :

Chosen Option :

Answered
B

Download From:- www.itieducation.com




Q.3

Ans

Udh dIg TR 12V, 24W &I U MOSFET &4 g§R1 9ud a1 711 g | 519 &4 91l 3
TUT A E DI d9d ON AfcRIYSHd1 0.1Q § d Athe Raa H & BT 3idhad Hifeg|

X Aa
X B.b
X C.c
o D.d

(A) 1.6W
(B) 0.8W
(C) 0.4W
(D) 0.2W

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

Question ID :

8496368447

84963633749
84963633750
84963633751
84963633752
Not Answered

Download From:- www.itieducation.com




Q.4

Ans

X Aa
X B.b
o C.C
/< D.d

(A) FITSR WA BT dAHAH =07
(B) "Dl Bl Wb drA

(C) Wi feU &l 9 &+

(D) UlNidl &I 9 B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368437
84963633709
84963633710
84963633711
84963633712
Answered

Cc

Download From:- www.itieducation.com




Q.5

Ans

Which of the followings is used in receiving side of Fibre Optic
Communications?

(A) Laser

(B) LED

(C) Photo Detector

(D) PIN diode

X Aa
o B.b
X C.c
< D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

8496368443
84963633733
84963633734
84963633735
84963633736
Answered

Chosen Option: C

Download From:- www.itieducation.com




Q.6

Ans

AP ITIRE aUT AT TS & dde @ 9 & &1 91 7Ted g2

(A) HEHIMETS ¥ 90 & 3icR TSIl 941 e3R8l ¥hd g

(B) HIEHEUIE § fad & e Uidy gl Uadhd gl

(C) TIZHIFTUAD T fod & iR 3faee rgrR ayl faud gl Yad g
(D) HigehlFdAd d U & sic 8141 g1 ¥abd gl

X Aa
X B.b
X Cec
o D.d

Question ID :
Option 11D :
Option 2 ID
Option 3 1D
Option 4 ID
Status:

Chosen Option :

8496368431
84963633685

: 84963633686
: 84963633687
: 84963633688

Answered
B

Download From:- www.itieducation.com




Q.7

Ife T 500kVA, 200Hz SIHHIR &I 50Hz WR UdTierd fdar 741 g df 38d kVA
T g

(A) 2000kVA
(B) 125kVA
(C) 250kVA
(D) 1000kVA

Ans X A a
& B.b
X Cec
X' D.d

Question ID : 8496368469
Option 1 ID : 84963633837
Option 2 ID : 84963633838
Option 31D : 84963633839
Option 4 ID : 84963633840
Status : Answered
Chosen Option : A

Download From:- www.itieducation.com




Q.8

I - Yasfe & 19 91 g 9l 87

(A) FriH > = &1 anr
B) 1 < Fam &1 g
(C) FfH = = &1 anT
(D) IWRIdd Hai

Ans X A a
X B.b
X Cec
& D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

8496368415

84963633621
84963633622
84963633623
84963633624
Not Answered

Download From:- www.itieducation.com




Q.9

Ans

o A a
&< B.b
X Cec
/< D.d

o Ted ey o Tea &1 35%4 §
(A) HFHR Dl gerdl g
(B) g
(C) AT =T
(D) HicsRd Hi¥ &l 9 ST

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368436
84963633705
84963633706
84963633707
84963633708
Answered

A

Download From:- www.itieducation.com




Q.10

HIZh Y 93 SiagHe H M & & srarar yy o Rad siig &1 g?

(A) feRTurd
(B) BlIEE]
(©) A
(D) R

Ans X A a
o B.b
X Cec
/< D.d

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

8496368410

84963633601
84963633602
84963633603
84963633604
Not Answered

Download From:- www.itieducation.com




Q.11

GRHd =1 97 Bl NI8Had | uRafdd Sifee..

(A)  59H
B) 62H
(C)  61H
(D) 67H

Ans X A a
/< B.b
o C.C
/< D.d

Question ID : 8496368422
Option 11D : 84963633649
Option 2 ID : 84963633650
Option 3 1D : 84963633651
Option 4 1D : 84963633652
Status : Answered
Chosen Option: C

Download From:- www.itieducation.com




Q.12

Ans

X Aa
o B.b
X Cc
X D.d

The capacitance of varactor diode can be controlled by

(A)
(B)
(©)
(D)

Applying varying forward voltage
Applying varying reverse voltage
Varying frequency in the circuit
Limiting the supply current

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

8496368457
84963633789
84963633790
84963633791
84963633792
Answered

B

Download From:- www.itieducation.com




Q.13

Ans

Bl UHE |
(A) 3O 3{ER Uald URT & 1Y Udh HHidhSdex Wi & aRI 3R dad -

T & BRI Si-d dicedl ©

(B) UHIRI — IHGI-118 Fdg W UbTR & Y b HRUI Seld - Sl gidl

gl

(C) TP Jaablg &F ¥ S dieedl ¥ URdd &l 39 &u a1 97 4 Heferd

Ul &1 SWIRT i gU d1Y a1 ST Habel g

(D) 9914 uRUY ¥ gRadA & HRUI HT{Hd T dbicdd 4RI B IRl

o A a
/X B.b
X C.c
/< D.d

qRdd gidl ol

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

8496368461
84963633805
84963633806
84963633807
84963633808
Answered

Cc

Download From:- www.itieducation.com




Q.14

Ans

Incorrect statement for a Master-Slave Flip-Flop

(A) Clock is inverted for Slave

(B) Output of Master is Inverted and given as input to Slave
(C) Master is inactive when Slave is inactive

(D) Output of Slave is Inverted and given as input to Master

X Aa
& B.b
X Cec
< D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

8496368420
84963633641
84963633642
84963633643
84963633644
Answered

Cc

Download From:- www.itieducation.com




Q.15

Ans

o A a
/X B.b
X C.c
/< D.d

PGA stands for

(A) Programmable Gate Array
(B) Ball grid array

(C) Power Gate Array

(D) Pulsed Gate Array

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368442
84963633729
84963633730
84963633731
84963633732
Answered

B

Download From:- www.itieducation.com




Q.16

‘Which is correct combination for Ideal Op-Amp Characteristics

(A) Infinite (Input Impedance, Open loop gain, Bandwidth) &
Zero Output impedance

(B) Infinite (Input Impedance, Open loop gain) & Zero (Output
impedance, Bandwidth)

(C)  Zero (Input Impedance, Open loop gain) & Infinite (Output
impedance, Bandwidth)

(D) None of the above

Ans  # Ala
/& B.b
X Cec
/< D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

8496368414
84963633617
84963633618
84963633619
84963633620
Answered

A

Download From:- www.itieducation.com




Q.17

Ans

o A a
/& B.b
X Cec
/< D.d

Choose the correct one for Types of radio wave propagation

(A)
(B)
(©)
(D)

Sky wave, Space wave & Ground wave
Sky Wave & Space Wave

Ground Wave & Wired type

None of the above

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368412
84963633609
84963633610
84963633611
84963633612
Answered

A

Download From:- www.itieducation.com




Q.18

Ans X A a
& B.b
X Cc
X D.d

In a half adder carry is implemented using

@ > B —[or
® 1O © >

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status :

Chosen Option :

8496368424
84963633657
84963633658
84963633659
84963633660
Answered

B

Download From:- www.itieducation.com




Q.19

Ans

X Aa
X B.b
X Cc
& D.d

Peak factor for the pure sine wave signals is
(A) 0.637
(B) 0.707
(C) 1.11
(D) 1414

Question ID
Option 11D
Option 2 ID

Option 4 ID
Status

: 8496368468

: 84963633833
: 84963633834
Option 31D :

84963633835

: 84963633836
: Answered
Chosen Option :

D

Download From:- www.itieducation.com




Q.20

gD URuy o gid Wit &1 ga-1 o ¢t e 3l &1 g1 g
(A) JER die g
(B) IR THdl

(C) FER dis g
(D) 1 goa

Ans X A a
X B.b
o C.cC
/< D.d

Question ID :

Option 11D :

Option 2 1D :

Option 31D :

Option 41D :

Status :

Chosen Option :

8496368440
84963633721
84963633722
84963633723
84963633724
Answered

D

Download From:- www.itieducation.com




Q.21

Ans

Offline and line-interactive UPS are often referred as:

X Aa
& B.b
o C.c
/< D.d

(A)
(B)
©

(D)

Standby and Online systems respectively

In offline system, always inverter output is connected to the load.
Compare to offline, line-interactive system is faster than Offline for
the restoration of power.

Compare to offline, line-interactive system is slower than Offline
for the restoration of power.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

8496368411
84963633605
84963633606
84963633607
84963633608
Answered

A

Download From:- www.itieducation.com




Q.22

8051 HIEHIMIADI H ... TR g
(A) 8-fac @l 2 g
(B) 16-fdc &l 1 ¥w@
(C) 8- fac &t 1 T=
(D) 16-fac &t 2 FEAT

Ans X A a
X B.b
X Cc
& D.d

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

8496368430
84963633681
84963633682
84963633683
84963633684
Answered

D

Download From:- www.itieducation.com




Q.23

Ans

o A a
& B.b
X Cc
X< D.d

U Uchdl — ure i i &t & T dred uvd g2
(A) P
(B) @
(C) dH
(D) dR

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368434
84963633697
84963633698
84963633699
84963633700
Answered

A

Download From:- www.itieducation.com




Q.24

Ans

o A a
& B.b
X Cec
/< D.d

Which of the following BJT region does amplification?

(A) Active

(B) Cut-off

(C) Saturation
(D)Both (B) and (C)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

8496368445
84963633741
84963633742
84963633743
84963633744
Answered

A

Download From:- www.itieducation.com




Q25 03 i welies S A F Rifgd 2. g e &

A
Aiad
(A) 7 1Y ¥ A U 3l Sifan uard g1
(B) TSl I WicTd Takd BT &1 WRINRT A B3| 2eR & a¥gall Pl Pakl b o oy
TUS Y T I IS |
(C) Ude URI g1 Ul Dl B B & el 7=iH &1 Ugiv @31
(D) =7 g1y & arel & 9iex & aegail DI 7 FUISR i KU FolaeRefed AHHa

Y gau g
Ans X A a
X B.b
X Cc
o D.d
Question ID : 8496368396
Option 1 ID : 84963633545
Option 2 ID : 84963633546
Option 3 ID : 84963633547
Option 4 ID : 84963633548
Status : Answered
Chosen Option : A
Q.26
g TP s B &7l 1000mA, 8, TG .......... D €10 1A YRT BT MYfd HR Gl g
(A) 30T
(B) 240 fie
(C) 60 foFie
(D) 120 fe
Ans X A a
X B.b
@ C.c
X D.d
Question ID : 8496368449
Option 1 ID : 84963633757
Option 2 ID : 84963633758
Option 3 ID : 84963633759
Option 4 ID : 84963633760
Status : Answered
Chosen Option: C

Download From:- www.itieducation.com




Q.27

Ans

o A a
/< B.b
X Cc
/< D.d

In a crimping tool, rachet mechanism is employed for:

(A) squeezing the wire terminal to provide a firm grip on inserted wire.
(B) Stripping the insulation sleeve.

(C) Cut the wire for the required length.

(D) None of the above.

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

Question ID :
Option 11D :

8496368400

84963633561
84963633562
84963633563
84963633564
Not Answered

Download From:- www.itieducation.com




Q.28

Ans

qife uRuy id g g -

N

L g

clfer uRuy & ¥ § &rf 4 8 URUY &1 dicedl afsl ...
B

®)

(©)

(D)

Vo

Bl

1

1-AB
A

1+AB

o A a
X B.b
X Cec
/< D.d

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

8496368394
84963633537
84963633538
84963633539
84963633540
Answered

D

Download From:- www.itieducation.com




Q.29

Udh Biclels & SId dic dg YRTg ol ... & 91y 3gdl g
(A) ST S quT SUg e Ui
(B) 3T Ui & faT
(C) 3{YYd Uaiyd & F1Y
(D) SIYATIHT STARAT TUT SHUgad Uaiud & 9iy
Ans X A a
X B.b
o C.c
X D.d
Question ID : 8496368459
Option 11D : 84963633797
Option 2 ID : 84963633798
Option 3 ID : 84963633799
Option 4 ID : 84963633800
Status : Answered
Chosen Option : B
Q.30
(A) 4 YR IR dR g1 gldl ¢ dl S T & felu &g |
(B) XN 1& &1 & & &1¢ DR &I UbM gH I
(C) 31U BT GdH HIdb - & felu SIrd Jad
(D) 31U $& 7Y & feIU SIId § aul 4Is W & IWRId B YT HA] ded g
Ans X A a
X B.b
X Cc
« D.d
Question ID : 8496368404
Option 11D : 84963633577
Option 2 ID : 84963633578
Option 3 ID : 84963633579
Option 4 ID : 84963633580
Status : Answered
Chosen Option : A

Download From:- www.itieducation.com




Q.31

Ans

9 U BIdhex dl S g i Ued — el &1 SUFIT 331 ol § a9 Uasl &
fo1u U b ST Y- drel SdH aRIi= Uel........ B

X A a
X B.b
X C.c
& D.d

(A) 4
(B) 5
(C) 6
(D) 7

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

: 8496368426

84963633665
84963633666
84963633667
84963633668
Answered

D

Download From:- www.itieducation.com




Q.32

Bing Search engine is owned by

(A) Amazon
(B) Microsoft
(C) Google
(D) Yahoo

Ans X A a
& B.b
X Cc
X D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368402
84963633569
84963633570
84963633571
84963633572
Answered

Cc

Download From:- www.itieducation.com




Q.33

Ans

g 230 V d 50 Hz Mgkl &1 T AC dicedl & 2 3T qYT 0.2 H IRebdl BT 4aal
UfeRIYdl DI SR b1 71 § dl Widaren &1 sidbed Difsd|

X Aa
& B.b
o C.cC
/< D.d

(A) 46 KQ
(B) 46 Q

(C) 62.8Q
(D) 628 Q

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368467

84963633829
84963633830
84963633831
84963633832
Not Answered

Download From:- www.itieducation.com




Q.34

Ans

X Aa
X B.b
X Cec
& D.d

Inductors can be classified based on

(A) Core material
(B) Core Design
(C) Usage

(D) All the above

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

8496368417
84963633629
84963633630
84963633631
84963633632
Answered

D

Download From:- www.itieducation.com




Q.35

Ans

U MR YRYY B 20V, & YC dicedl gRI HRUT [HF1 SId1 8 Sl 16W DI laR i
YUe ddl 3| afe IR &TdT 80%, g dl 3192 YR &1 Yoo ddiZu|

(A) 0.64A
(B) 1A
(C) 0.8A
(D) 1.25A
X Aa
o B.b
X C.c
25 D.d
Question ID
Option 1 ID
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

: 8496368454
: 84963633777

84963633778
84963633779
84963633780
Answered

B

Download From:- www.itieducation.com




Q.36

Which among the following happens in a low power factor?
(A) Large kVA rating of the equipment
(B) Greater conductor size
(C) Reduced handling capacity of the system
(D) All of the above

Ans X A a
X B.b
X C.c
& D.d

Question ID : 8496368465
Option 1 ID : 84963633821
Option 2 ID : 84963633822
Option 3 1D : 84963633823
Option 4 ID : 84963633824
Status : Answered
Chosen Option : A

Download From:- www.itieducation.com




Q.37

Choose the correct one for a simple Resistance circuit

(A)
(B)

(©)
(D)

Ans X A a
X B.b
X Cec
& D.d

Input Voltage (20 V), Resistance (4 ohms), Current (5 Amps)
Input Voltage (40 V), Resistance (10 ohms), Current (4
amps)

Input Voltage (10 V), Resistance (20 ohms), Current (0.5
amps)

All the above

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368416
84963633625
84963633626
84963633627
84963633628
Answered

D

Download From:- www.itieducation.com




Q.38

Ans

qIdd a¥] & Yot T (99 T J DI 91 1 91 g
I duaH & &y T el o FB0Mdd dradH= ol gid g |
I dUaH & A6 areid! I Y= 99 0l gid gl

111, ¥GSisdl S8 H Had geidel Iude 181 8id ¢
IV. Yl 98 & gad gaide gid ¢

A) LIV
(B) 1&1II
(C) I &III
(D) I &IV

X A a
/< B.b
X Cc
& D.d

Question ID
Option 1 ID
Option 2 ID
Option 3 ID

: 8496368466
: 84963633825
: 84963633826
: 84963633827
Option 41D :
Status :
Chosen Option :

84963633828
Answered
B

Download From:- www.itieducation.com




Q.39

Ans

Pt100 is
(A)

(B)
(©)
(D)

X Aa
& B.b
o C.c
/< D.d

A Thermocouple device consisting of two dissimilar
conductors or semiconductors

A resistance temperature detector with a typical resistance of
100 Q at 25°C

A resistance temperature detector with a typical resistance of
100 Q at 0°C

An actuator operates in the range of 0°C to 100°C

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368462

84963633809
84963633810
84963633811
84963633812
Not Answered

Download From:- www.itieducation.com




Q.40

Fafarad uikuy & e o, R1 UikRIY@dr & 9R[ 3R dieedl 310 ....... dice

40 20

2H

R1 ézﬂ

40

(A) Svolts

(B) 10volts
(C) 7.5volts
(D) 2.5volts

Ans X A a
X B.b

X Cc
o D.d

Question ID : 8496368464
Option 11D : 84963633817
Option 2 1D : 84963633818
Option 31D : 84963633819
Option 4 1D : 84963633820
Status : Answered
Chosen Option: D

Download From:- www.itieducation.com




Q.41

Ans

S A& Al &R ........ AP BIdl dl 3.0H. 31 Bl AT B & ar 31F-"db
319D g

o A a
< B.b
X C.c
/< D.d

(A) 30% i
(B) 60 % Y 34
(C) I (90 %)
(D) SWIad BIg Tel

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368438
84963633713
84963633714
84963633715
84963633716
Answered

Cc

Download From:- www.itieducation.com




Q.42

P Sl - ST uRadT P egua. ®
(A) Ton/(Ton+Toff)
(B) Toff/(Ton+Toff)
(C) Ton/Toff
(D) Toff/Ton

Ans o Ala
/& B.b
X Cec
< D.d

Question ID : 8496368452
Option 11D : 84963633769
Option 2 ID : 84963633770
Option 3 ID : 84963633771
Option 4 ID : 84963633772
Status : Answered
Chosen Option : A

Download From:- www.itieducation.com




Q.43

UdIeH 8 Ud.5. ol a1 BleIS[AIs & S 3§ g8 MR T

(A) U3 St o Irafd gid € Sigl BidISMIS b diecdl &1 g
(B) Ud.3.S1. IehH SRR Bidl § Slel BicS[AIS 3 S-fd Bl
(C) A3 Sl U WIS AlS 3% 9Rd gl

(D) Ud.3S.31 U BICISIANS, IRy dieedl Gl @A g

Ans o Ala
& B.b
X Cec
< D.d

Question ID : 8496368460
Option 11D : 84963633801
Option 2 ID : 84963633802
Option 3 ID : 84963633803
Option 4 ID : 84963633804
Status : Answered
Chosen Option : A

Download From:- www.itieducation.com




Q.44

Ans

Ui @t St # SHBHd auA B ... & foe fa1 S B

o A a
/X B.b
X C.c
/< D.d

(A) T U IMEAAS UguD! U RIEd HIA
(B) FifFd! e of Ue H3

(C) YISI 98k IdIE &I I B

(D) dedl g3 dlecdl ¥ IRI&d d

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

8496368435
84963633701
84963633702
84963633703
84963633704
Answered

A

Download From:- www.itieducation.com




Q.45

(A) ZYC ¥ 3iFHeye ddh Rudel Sigthrul &1 SHuId duT Sfwe o gifar

EIcIE
(B) Y YT 313¢YC & d1d Rl Sigshrul bl ST T dieedl o
UGl
(C) 3MM$eye ¥ 3YC & did Ruid] afgshRul T 3urd adl Siiaa 4
UG
(D) 3M1&eYe ¥ YE & did Rugcd afgshor & 3urd 94T mA o <2ifar
EIIE
Ans X A a
X B.b
o C.c
X D.d
Question ID : 8496368458
Option 1 ID : 84963633793
Option 2 ID : 84963633794
Option 3 ID : 84963633795
Option 4 ID : 84963633796
Status : Not Answered
Chosen Option : --
Q.46
FafeREd ¥ 9 &F 91 919 ugl g2
(A)  ANER P IR - WRd &I i SfarH gfeka
(B)  AfkR U usife el gidd
(C)  INFR T 71e, TS ay1 »yrs ciiHa g1
(D) IqRiad gt
Ans X A a
X B.b
X Cc
« D.d

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368451
84963633765
84963633766
84963633767
84963633768
Answered

D

Download From:- www.itieducation.com




Q.47

SISO fR1ge IfoRex @ ......... T & fore IugiT fdar o g

Ans  # Ala
X B.b
X Cec
X D.d
Question ID : 8496368429
Option 11D : 84963633677
Option 2 ID : 84963633678
Option 3 ID : 84963633679
Option 4 ID : 84963633680
Status : Answered
Chosen Option: A
Q.48
19 3MmafRg Wids uerf &l 3§ w8 31 Sy 9 a9+ gg Wi f&ar sirdn g diie
(A) 3G gy & HRU GGG G Bl Siid B &l 99 UgiRi g
(B) @ 3(Qf¥as 1A= &A1 g1 Wbl |
(C) IGH T4 & HRUI {4Gd A ST+ DA Bl 3= Uq gl
(D) IWIdd 7§ DI el
Ans  # Ala
X B.b
X Cec
X D.d
Question ID : 8496368397
Option 11D : 84963633549
Option 2 ID : 84963633550
Option 3 ID : 84963633551
Option 4 ID : 84963633552
Status : Not Answered

Chosen Option :
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Q.49

CMOS M= ¥ ............ R &1 S1a1 g
(A) VIL = 0; VIH = 0.7VDD
(B) VIL = 0.3VDD; VIH = 0.7VDD
(C) VIL = 0.5VDD; VIH = 0.5VDD
(D) VIL = 0.3VDD; VIH = VDD

Ans X A a
« B.b
X C.c
< D.d

Question ID
Option 1 ID
Option 2 ID
Option 3 1D
Option 4 ID

Status

: 8496368421

: 84963633645
: 84963633646
: 84963633647
: 84963633648
: Not Answered

Chosen Option : --
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Q.50

Ans

Unwanted / unintended electrical path between two conductors /
traces is called as

o A a
& B.b
X Cec
/< D.d

(A)
(B)
(©)
(D)

Solder bridge
Solder ball
Solder fillet
Solder bump

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368441
84963633725
84963633726
84963633727
84963633728
Answered

A
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Q.51

Wﬁauﬁaammaﬂﬁfamméﬁmmﬁm
|

(A) SIGR] aRRY
(B) Heh| IRy
(O©) g diEavy
(D) defid diaey
Ans X A a
o B.b
X Cc
X D.d
Question ID : 8496368408
Option 11D : 84963633593
Option 2 ID : 84963633594
Option 31D : 84963633595
Option 4 ID : 84963633596
Status : Not Answered
Chosen Option : --
Q.52
ST STBIS DI Uh LWL T TSI & Y al ... T &
3{T%eye gl
(A) 4.8
(B) 4,10
(C) 3.8
(D) 3,10
Ans X A a
& B.b
X Cec
X D.d
Question ID : 8496368428
Option 11D : 84963633673
Option 21D : 84963633674
Option 3 ID : 84963633675
Option 4 1D : 84963633676
Status : Answered
Chosen Option: B
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Q.53

Ans

g NS fuod B I Y ...
igfa = f IRB = ;—;,ICWW,IEGWWHIBGHWW%)
(&) «=f
@) =g
(C) x= %
1
(D) = 1+%

X Aa
X B.b
X Cec
& D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368393
84963633533
84963633534
84963633535
84963633536
Answered

D
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Q.54

Sequence of steps for conversion of Analog signals to Digital

(A) Sampling, Quantization & Encoding
(B) Quantization, Encoding & Sampling
(C) Encoding, Sampling & Quantization
(D) None of above

Ans  # Ala
& B.b
X Cec
/< D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368413
84963633613
84963633614
84963633615
84963633616
Answered

Cc
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Q.55

In CRT, the ray deflection is done with

(A)
(B)
(©
(D)

Ans X A a
« B.b
X cC.c
< D.d

Single magnetic coil
Double magnetic coil
Single Electric field
None of the above

Question ID :
Option 11D :
Option 21D :

Option 31D
Option 4 ID
Status

8496368391
84963633525
84963633526

: 84963633527
: 84963633528
: Answered

Chosen Option :
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Q.56

Ans

31313 Ul gl B Scide - IRTY T AYS FY J IuA R g Hlidb

X Aa
X B.b
X cC.c
o D.d

(A) I gudl
(B) &UA &I icRiY
(C) HYHU

(D) IWIaT i

Option 3 1D
Option 4 ID
Status

Question ID :
Option 11D :
Option 21D :

8496368439
84963633717
84963633718

: 84963633719
: 84963633720
: Answered

Chosen Option :

A
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Q.57

BISeR UHIRID! R H, R B 3Uad-id, alial & Auaa-id 3 ...... o
(a) fm
(B) 99M
(C) 3f¥d
(D) Wi T DIS gl

Ans X A a
/< B.b
o C.c
/< D.d

Question ID : 8496368444
Option 11D : 84963633737
Option 2 ID : 84963633738
Option 3 1D : 84963633739
Option 4 ID : 84963633740
Status : Answered
Chosen Option: C

Download From:- www.itieducation.com




Q.58

Ans

When a PN junction diode is reverse biased, the resistance between its

terminals will be

(A) Afewohms
(B) A few tens of ohms
(C) Zero
(D) Very high

X Aa

X B.b

X Cec

o D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

8496368455
84963633781
84963633782
84963633783
84963633784
Answered

D
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Q.59

Ans

SRHd BT 374 B BCD H URaldd $ifsu|
(A) 000101110110
(B) 001101110100
(C) 001001100011
(D) 010010000101

X Aa
o B.b
X C.c
< D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

8496368423
84963633653
84963633654
84963633655
84963633656
Answered

B

Download From:- www.itieducation.com




Q.60

Ans X A a
& B.b
o C.cC
/< D.d

The disks stores information in

(A) Blocks

(B) Tables

(C) Tracks and sectors
(D) Rows and Tables

Question ID
Option 1 ID

Option 3 ID
Option 4 ID
Status

Chosen Option

: 8496368407
: 84963633589
Option 21D :

84963633590

: 84963633591
: 84963633592
: Answered

:B
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Q.61

resienne. B [C1U 3.0 3] <1 bl § dHdd UICEUI g

Ans X A a
& B.b
X Cec
< D.d

(A) Hddl SRS & Il § STIRTEH Bl a1

(B) SUFNEHdl & DUS gRI ST AR Y Hddl gaddeiiG &l s
(C) dfe ArSET FYIfSTd gl § 7d 192 & =g Bl HH B |
(D) SWidd & U BIS 5l

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option : --

8496368399

84963633557
84963633558
84963633559
84963633560
Not Answered
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Q.62

Ans

The Shielding around conductor:

(A) offers mechanical strength to the wire.
(B)attenuates current and electrical fields.

(C) reduces the space occupancy.

(D) has no importance with respect to electric fields.

X Aa
& B.b
X Cec
< D.d

Question ID :
Option 11D :
Option 21D :

Option 3 1D
Option 4 ID
Status

8496368398
84963633553
84963633554

: 84963633555
: 84963633556
: Answered

Chosen Option :

A
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Q.63

Ans

39 B4 Ctrl+Alt+Delete DIae Alcdhe DI YN Hd o |

(A) < Y uidfeariid gidr g

(B) 19 31U YR Bl UG 231U dXd §
(C) o4 3 BI5d &l f3fere & d1gd &
(D) STd W gl Geldl §

o A a
X B.b
X Cec
/< D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368409
84963633597
84963633598
84963633599
84963633600
Answered

(o
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Q.64

R guia SR 0.04 9T 103 Sifhd § 98 TUTRA.._ A &I ST 3|

(A) 0.04 F TUT 10 nF HHEE:.
(B) 0.04 pF T 10 nF HH:
(C) 0.04 uF T 10 nF HH:

(D) 0.04 nF TYT 10 uF HHE:

Ans X A a
X B.b
o C.C
2 D.d
Question ID : 8496368401
Option 11D : 84963633565
Option 2 ID : 84963633566
Option 3 ID : 84963633567
Option 4 ID : 84963633568
Status : Answered
Chosen Option: B
Q.65
8051 HEHIMIAG T WA & ........... d15e P 5P T4y T AU Fd B |
(A) 2
B) 4
(C) 8
(D) 16
Ans X A a
X B.b
@ C.c
X D.d
Question ID : 8496368432
Option 11D : 84963633689
Option 2 ID : 84963633690
Option 3 ID : 84963633691
Option 4 ID : 84963633692
Status : Answered
Chosen Option: C
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Q.66

DSO & X 31&f &I oF HFT H fauIferd fhar g1 IHa A9 &7 10 el 9608 / HiT |

e a1 g1 Uhd db Higd gl g off DSO J W18 &l .o ©
(A) 1Hz
(B) 10Hz
(C) 100Hz
(D) 0.1Hz
Ans X A a
& B.b
X C.c
X D.d

Question ID : 8496368390
Option 11D : 84963633521
Option 2 ID : 84963633522
Option 3 1D : 84963633523
Option 4 ID : 84963633524
Status : Answered
Chosen Option: B

Download From:- www.itieducation.com




Q.67

D-Latch is S-R Latch along with

(A) Single Enable and Dual Input
(B) Multiple input without Enable
(C) Single input and Multiple Enable
(D) Single input and Single Enable

Ans X A a
X B.b
X Cec
& D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368419

84963633637
84963633638
84963633639
84963633640
Not Answered
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Q.68

Ans

gi¢ T Us IR URTY & [0 9y 3(afY ¢ qu1 D IUD] B dcb ¢ i JIMHT 37aii ¢

T = Ton + Toff
(A) Ton/D
(B) Toff/D
(C) D/Toft
(D) D/Ton

X Aa
/X B.b
X Cc
 D.d

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 8496368453

: 84963633773
: 84963633774
: 84963633775
: 84963633776
: Not Answered
Chosen Option :
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Q.69 vsdvdd e uRuy & vo ...

vd

Vs
Vimax
" ([\D R (f\} Vo A Timet
\/ -Vmax
g1 Vmax > Vd
A *t "
vd (C)
/\ Timet Timet
\/ [
-Vd
\/ -(Vmax+vd)
(B) Vo & N 4
Vmax (D) ? vd
/\ / Time /L Timet
W, \ i
-vd
Ans X A a
X B.b
o C.C
X D.d

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status :

Chosen Option :

8496368395
84963633541
84963633542
84963633543
84963633544
Answered

Cc
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Q.70

Ans

LVDT is not

X Aa
& B.b
X Cec
2 D.d

(A)
(B)
(©)
(D)

sensitive to magnetic field
feasible for very long-range measurements
affected by temperature changes

suitable for applications where minimum mechanical friction

is required

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368463
84963633813
84963633814
84963633815
84963633816
Answered

B
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Q.71

Ans

MS-Excel dhRie 7 I 4T HIdH & UAwgd Bl ......... Ped gl

(A)
(B)
©
(D)

X A a
/X B.b
o C.C
/< D.d

A

V]

DlcH
o
L

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

Question ID :
: 84963633585
: 84963633586
: 84963633587
: 84963633588
: Answered

:C

8496368406
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Q.72

Ans

U .00, Rd ¥, SIS &l sl & RUR aIfSTd fbar 7ar g |

X Aa
/< B.b
o C.C
/< D.d

(A)
(B)
(©)
(D)

el droell Bl fiHd B
el Haell Bl URT &1 IR0 DA

Sd pacll Dl YA: SHfoid [l Siidl 8 dd Uiah &l aHT B

YR @ dfed

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368456

84963633785
84963633786
84963633787
84963633788
Not Answered
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Q.73

What is the purpose of twisting the pairs of cables together in a UTP cable?

(A) To reduce attenuation

(B) to reduce cross talk

(C)  to reduce electro-magnetic interference.
(D) to reduce noise.

Ans X A a
& B.b
X Cec
< D.d

Question ID : 8496368405
Option 11D : 84963633581
Option 2 ID : 84963633582
Option 3 1D : 84963633583
Option 4 ID : 84963633584
Status : Answered
Chosen Option: C
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Q.74

Ans

@< Udbdl A ¥ U Ybd IH o

(A) IS
(B) SldlR
(C) ag Ybdd
(D) 3 g Hbdd

X A a

X B.b

o C.C

X D.d

Question ID
Option 1 ID
Option 2 ID
Option 3 1D
Option 4 ID
Status

Chosen Option

: 8496368425
: 84963633661
: 84963633662
: 84963633663
: 84963633664
: Answered

:C
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Q.75

A type of electrical battery which can be charged, discharged into a load
and then recharged many times is called
(A) Rechargeable battery

(B) Secondary battery
(C)  Primary battery
(D) Bothaandb

Ans  # Ala
/< B.b
X Cec
/< D.d

Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID
Status :
Chosen Option :

: 8496368450

: 84963633761
: 84963633762
: 84963633763
: 84963633764

Answered
B
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Q.76

200, (EM) el & Uaier g 9IaHT oy

(A) FEA0 ddvd, Sfold dadl, [dggd dud & 1fd
(B) dgdd Yud &1 71fd, HiSd dadll, (=01 ddbd
(C) gz Ydvd, faggd Wud ol 7ifd, Sfold bt
(D) Wi H U Dls el

Ans Al a
/X B.b
X C.c
/< D.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368418

84963633633
84963633634
84963633635
84963633636
Not Answered
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Q.77

Ans

X Aa
/< B.b
@ C.c
/< D.d

Which one of the following is not an Operating System?

(A)
(B)
(©)
D)

Windows
Linux
Oracle
DOS

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

8496368403
84963633573
84963633574
84963633575
84963633576
Answered

c
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Q.78

Ans

The Configuration drawing denotes the circuit 1s in

o A a
& B.b
X Cec
/< D.d

(A)
(B)
(©)
(D)

—

CC configuration

CE Configuration
CB Configuration
None of the above

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8496368392
84963633529
84963633530
84963633531
84963633532
Answered

A
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Q.79

Ans

Ud Bl eR g oH 3ifaw fied — Tild & 3113,¢Ue &l Hahifd dHrb

UYH U — UATT & 3¢ &I U fhar g1

X Aa
& B.b
X Cec
X D.d

(A) RT3ER

(B) ST BT&e
(C) Rd drHR
(D) fEds PR

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

8496368427
84963633669
84963633670
84963633671
84963633672
Answered

A
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Q.80

Ans

AMhe & Tie effFd &l &I 91 IRd 3af #xdl g
(A) T&ferar
(B) P s
(C) DI S - 3ddS
(D) Fufcrei

X A a
 B.b
X C.c
/< D.d

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

: 8496368446
: 84963633745
: 84963633746
: 84963633747
: 84963633748
: Answered

:C
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